
1

A

2 3 4 5 6 7 8

1 2 3 4 5 6 7 8

B

C

D

E

F

A

B

C

D

E

F

FOR INFORMATION ONLY
NOT FOR MANUFACTURING PURPOSES

Created byFinish

DWG No.Title

Scale Sheet

A31:14 axis

MSTAGEv1.4

Anodized Aluminium 2020-09-15

1/1
stage
Manual translation

Optogama

!!

28

10

22
.5

25

15.5

25

2525

50

4 x Slots for Stage fixing
(fits M6x1.0 and 1/4"-20 screws)

6.5 THRU
Ø11  7

5
50

4 x Mounting threads
M6x1.0 10

7 x Holes
(For mounting with
M4x0.7 screws
from the bottom side)
Ø4.2 THRU
Ø7.5   4.5

100

7.5 15

27
±2

 m
m

tra
ve

l

28

75

4 x Microscrews
locking screws M3x0.5
(1.5 HEX screwdriver)

4 x Fine adjustment microscrews
M6x0.25 (2 HEX screwdriver)

3 x Mounting threads
M6x1.0 8

7.
5

50

3535

45 7.5

37.525

50.8 [2in]
50

.8
 [2

in
]

Top view

Front view

Side view

15 70

27
.5

35

4 x Mounting threads
M6x1.0 7

Bottom view

Back view

Laurynas Mikulskis

Laurynas Mikulskis

Laurynas Mikulskis

Laurynas Mikulskis

Laurynas Mikulskis

Laurynas Mikulskis
Pitch
±2.5 deg

Laurynas Mikulskis

Laurynas Mikulskis
Z axis
±2 mm

Laurynas Mikulskis

Laurynas Mikulskis

Laurynas Mikulskis
Y axis
± 4 mm

Laurynas Mikulskis
Yaw
±5.5 deg

Laurynas Mikulskis

Laurynas Mikulskis
NOTE: 

Laurynas Mikulskis
Unlock microscrews before adjustment

Laurynas Mikulskis
!


	Sheets and Views
	MSTAGEv1.0


